DGRV ERHNCIVISNND $.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0.:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX YA oL A L EL O N I [ O 1 D706

Function02 Answers for No.9182
Ansl > yellow

blue

green

red

black

gray

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=19000+60x] |

o 2=[y=160x]

2_[ —i+8100}’ Ans5=['1_[y_21_7(;(;;0317000]}, Ans6 = A4=[Loss:500] |, Ans7=[.2=[52]]
* - y_20 ' - .5:[190]

|6 =[y=19000 - 100 x]]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKKKKKXKXKXKXKXKXKXKXKX KKK KKK KKK KKK KKK

A=[y=4x+160]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0.:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX Y A oL A LR 0 N0 10 [ 0125706

Function02 Answers for No.9225
Ansl > gray

red

green

yellow

blue

black

NOT on the line
ON the line

ON the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+ 60 x] |
d=[y=4x+190] 2=[y=160x]
Ansd = : Ans5=[1_[y_2030x+29000]}, Ans6=|  4=[Loss:600] | Ans7=[.2=[55]]
2=43210
5=[170]
| 6=[y=17000 — 100 x].
DG R=Te (CHENN IR D 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.0.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.0:0.0.9.0.0.0.9:0.0.0.4

3x
.2:[y:§+ 10500




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX X A oL A ET O N0 [0 [ 0 JCH 0.6

Function02 Answers for No.9243
Ansl > yellow

green

black

gray

blue

red

ON the line

ON the line

NOT on the line
NOT on the line
ON the line

NOT on the line

NOT on the line
ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=20000+70x]]

2=[y=160x]
I=[y=1450x + 29000]}
_x = = = . = =
‘2:{y= +7500 | A0 [ 2=42050 , Ans6=| .4=[Loss: 1010] |, Ans7=[.2=[84]]

20 5=[223]
|.6=[y=20000 - 90 x].
DG R=-Te ICHE NIV H D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0:9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.0.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.9:0.0.0.9:0.0.04

A=[y=5x+190]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y ML Y A o X A ET O N O [0 [ 015706

Function02 Answers for No.9280
Ansl > blue

green

black

gray

red

yellow

ON the line

ON the line

NOT on the line

NOT on the line
ON the line

NOT on the line
ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=22000+70x] |

e 2=[y=180x]
2_{ 7x +9900}, Am:[.z_[y_21fg(;gozzoooo]l Ans6=|  4=[Loss:1320] | Ans7=[.2=[611]

|.6=[y=22000-110x].
DG R=-Te ICHE NN VIVIIX S I 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.0:0.0.0.4

A=[y=5x+170]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A L EA O N0 [0 [ 0 ]9 0.6
Function02 Answers for No.9298
Ansl > black

green

blue

yellow

red

gray

NOT on the line
ON the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line
ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=18000+ 70 x]]

v — 2=[y=130x]

} , Ans5 =['1 =b _21_873(')72673 17000]}, Ans6=| . 4=[Loss:780] |, Ans7=[.2=[41]]
o 5=[300]

|.6=[y=18000 - 60 x]
DG R=Te (CHE NN IVISH D 9:0:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.9:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0:9.9.0.9:0.0.0.0.0.0.0:0.0.0.4

A=[y=3x+150]

= 3x
Ansd=\ ,_ [y ——— 19900
100




X Math@MUT XXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK XXX KKK KKK KKXXKXKXXMS /2-6400402-00006XX

Function02 Answers for No.9329
Ansl > yellow

blue

gray

red

green

black

ON the line

NOT on the line

NOT on the line
ON the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+40x] |

2=[y=150x]
.1:[y=1440x+18000]}
_x = = = ; = =
'2:[y= +7900}’ Ansd [ 2=25200 > Ans6 A4=[Loss: 650] |, Ans7=[.2=[57]]

20 5=[191]

L.6=[y=21000-110x].
X [Page = 0006] XXXXXXXXXXXXXXXXKXKXXXKXXKXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK KK KXKXKK KK KKXKK KKK KKK KKK KXKK KKK KKK K KK KKKK KKK KXKKKK KKK

A=[y=3x+190]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX YA oL A EI O N [ [ O 70’6

Function02 Answers for No.9358
Ansl > red

black

green

gray

yellow

blue

ON the line

NOT on the line
ON the line

NOT on the line

NOT on the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=18000+60x] |
d=[y=6x+160]

- 2=[y=180x]
s — .1—[y—1900x+19000]}’ st

7x Ans5=[ —| 4=[Profit: 15601 |, Ans7=[.2=[491]
2=|y=""16300 | 2234200 ’

{y 100 } 5=[150]
|6=[y=18000—120 x].
DG R=Te (CHE NIV R IND 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0.4




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XXX KKXXKXKXKXMS /2-6400402-00008XX

Function02 Answers for No.9362
Ansl > red

yellow

gray

black

blue

green

ON the line

NOT on the line

NOT on the line
ON the line

ON the line

NOT on the line

NOT on the line
ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=23000+60x]]

2=[y=130x]
~ .]:[y:2030x+29000]} ~ - . o
'2:[y=i+6100 : Am_[ .2=39150 , Ans6=|  .4=[Loss: 670] |\ Ans7=[.2=[52]]

20 5=[329]
|6 =y =23000- 70 x]]
DG R=-Te (CHE NN VIVI2 N IND 9:0:9.:0.9:9:9:0.9:9.0.9:0:0.9.0:0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.0.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.9.0.0.0.0:0.0.0.4

A=[y=6x+160]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ LY ML Y A o F A ET O N0 [0 [ 0 1) 0’6

Function02 Answers for No.9408
Ansl > gray

green

blue

black

red

yellow

ON the line

NOT on the line

NOT on the line
ON the line

ON the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=21000+ 50 x]

2=[y=120x]
.1:[y=1200x+24000]}

7x = = = ° = =

'2:[y=—+9300}’ Ans [ 2233600 , Ans6=|  4=[Loss:770] | Ans7=[.2=[76]]

100 .5=[300]
|.6=[y=21000 - 70 x]]
X [Page = 0009] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXKKXKXKXKXKKKKXKXKXKK KX KKXKX KKK KKK KKK KKXKK KKK KKK KKK KXKK KKK KKK K KK KKKK KKK KKK K KKK

A=[y=Tx+160]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKXXKKXXKXKXXMS /2-6400402-00010XX

Function02 Answers for No.9450
Ansl > yellow

red

green

blue

gray

black

NOT on the line

NOT on the line
ON the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+40x] |

J=[y=3x+130] 2=[y=170x]
Ansd = 3x , Ans5=['1_[y_1710x+19000]}, Ans6=|  .4=[Loss:200] | Ans7=[.2=[81]]
2=|y=""1+7600 2 =27550
50 5=[162]

|.6=[y=21000 - 130 x]_
X [Page = 0010] XXXXXXXXXXXXXXXXXKXXXXXXXXXXKXKXXXKXKXKXKKXKKXKXKXKK KX KKXKXK KK KXKXKK KK EXKXKK KKK KKK KKK KKK KKK KXKKK KK KKK K KKK KXKKKK KKK



D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FEX YA oL A EL O N [ O N D 0 ¢

Function02 Answers for No.9469
Ansl > black

blue

gray

red

yellow

green

ON the line

ON the line

NOT on the line
ON the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=19000 + 50 x]

o 2=[y=120x]
2_[ _Tx +6700}’ Ansjz[,l_[y—21j1(;(;;€07;28000]}, Ans6=| .4 =[Profit: 1101 | Ans7=[.2=[45]]
|6 =[y=19000—70 x]]
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKKKKKXKXKXKXXKXKXKX KKK KKK KKK KKK KKK

A=[y=3x+150]
Ans4 =




D ERVERHNCIVISENED 0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A LET O N [ O N N2D 06

Function02 Answers for No.9730
Ansl > blue

yellow

gray

green

red

black

NOT on the line
ON the line

NOT on the line
ON the line

NOT on the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+30x] |

2=[y=160x]
B .1:[y=1740x+29000]} ~ 3 . o
'2:[y=i+7300}’ Ansj‘[ 2=37700 » Ans6=\ 4 =[Profit:270] \, Ans7=[.2=[52]]

20 5=[177]

|.6=[y=23000— 130 x]_
DG R=-Te ICHE NI ON NN IND 9:0:9.:9.9.9:9:0.9:9.0.9:0:0.9.0.9.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:0.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=3x+190]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK XXX KKK KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK KKXXKXKXKXMS/2-6400402-00013XX

Function02 Answers for No.9743
Ansl > blue

green

red

gray

yellow

black

ON the line

NOT on the line
ON the line

ON the line

ON the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=22000+ 70 x]

2=[y=130x]
.Iz[y:1800x+18000]}
7 = = = N = =
'2:[y=_x+6600} Ans [ 2=37800 , Ans6=| . 4=[Profit:920] | Ans7=[.2=[43]]

100 S =[367]

|.6=[y=22000 - 60 x]
DG R=-Te (CHE NNV ONECH D 9:9:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0.:9:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.9:0.0.0:0.0.0.9:0.0.0.4

A=[y=6x+170]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A LET O N IO N R 5706

Function02 Answers for No.9791
Ansl > blue

green

red

gray

black

yellow

ON the line

ON the line

ON the line

NOT on the line

NOT on the line
ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=23000+ 60 x]]

A=[y=Tx+140] 2=[y=130x]
Ansd = 3x , Ans5=['1_[y_1520x+19000]}, Ans6=| .4=[Loss: 6701 | Ans7=[.2=[73]]
2=|y=——1+7200 2=35720
100 5=1[329]

|.6=[y=23000 - 70 x]]
DG R=-Te ICHE NNV R/ NI 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0.0:0.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.9:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.9:0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK KKK KKK XXX KXKXXKXKXKXMS /2-6400402-00015XX

Function02 Answers for No.9807
Ansl > red

black

gray

green

yellow

blue

ON the line

NOT on the line
ON the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+40x] |

v — 2=[y=180x]
x , Ans5=['1_[y_2340x+26000]}, Ans6=| 4=[Loss:1740] |, Ans7=[.2=[731]
2=|y=75+7600 2= 47060 o 1122]

L.6=[y=17000 — 140 x]_
DG R=-Te [CHE NI ONECH D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.:0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.9.0.0.0.9:0.0.04

A=[y=5x+160]
Ans4 =




D ERVERHNCIVINENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A LET O N IO N W) 06

Function02 Answers for No.9832
Ansl > green

gray

red

black

blue

yellow

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=22000+70x] |

- 2=[y=180x]
2=|y=", 2= 5=[200]
| 6=[y=22000—110 x].
X [Page = 0016] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK KK KXKXKK KK KKXKK KKK KKK KKK KKK KKK KKK K KK KKK K KKK KXKKK KKK

A=[y=3x+180]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKXXXKXXKXKKXMS /2-6400402-00017XX

Function02 Answers for No.9870
Ansl > red

green

black

blue

gray

yellow

ON the line

NOT on the line

NOT on the line
ON the line

NOT on the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+30x] |
d=[y=7x+190] 2=[y=140x]
Ansd = : Ans5=[1_[y_1440x+16000]}, Ans6=|  4=[Profit: 14401 | Ans7=[.2=[76]]
2227520
5=[191]
| 6=1[y=21000—110x].
DG R=Te (CHE NI ON R IND 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

X
.2:[y=E+ 10200




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX Y A oL A ET O N IO N =D 06
Function02 Answers for No.10168

Ansl > green

red

black

gray

blue

yellow

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

. 1=[y=20000+30x] |

d=[y=4x+160] 2=[y=180x]
Ansd = 3 , Ans5=["—[y —2900“29000]}, Ans6=|  4=[Profit: 100] | Ans7=[.2=[86]]
2= y=5_0+9800 .2=55100 5=[134]

|.6=[y=20000— 150 x]_
DG R=Te (CHE NI R IND 9:0:9:0.9:9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.9.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0.0.9:0.0.0.9:0.0.04



D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FLX Y A oL A ZEL O N IO N N°) 0.6
Function02 Answers for No.10288

Ansl > gray

yellow

green

red

black

blue

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=17000 + 40 x]

2=[y=130x]
.1:[y=2340x+26000]}
7 = = = N = =
'2:[y=—x+9100}’ Ans? [ 2=51740 , Ans6=| .4 =[Profi: 460] |, Ans7=[.2=[65]]

100 S5=[189]
|.6=[y=17000 - 90 x1]
DG R=-Te ICHESNVIONECE D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=Tx+130]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A R 0 0 10 )22 0D 0’6
Function02 Answers for No.10502

Ansl > green

black

yellow

red

gray

blue

ON the line

NOT on the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+40x] |
A=[y=4x+160]

2=[y=170x]
~ .1:[y=980x+14000]} ~ 3 . o
}, Ans5—[ 5 23800 , Ans6=| .4=[Loss: 16801 | Ans7=[.2=[80]]

S=[177]
|.6=[y=23000— 130 x]_
DG RETe (CHENN IR IND 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4

= 3x
Ansd=\ ,_ [y ——— 1 6000
100
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Function02 Answers for No.10562

Ansl > red

blue

black

gray

yellow

green

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+70x] |

A=[y=3x+170] 2=[y=170x]
A= [y=2750x+25000]}
Ans4 ‘2:{)}: X +7900}, Ans5 [ 238750 , Ans6 4 =[Profit : 1400] |, Ans7=[.2=[84]]

100 S5=[170]
L.6=[y= 17000 — 100 x]
DG R=Te ICHE NIV N N IND 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.9:0.0.0:4




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A ET 0 N0 10 )2325°0 ¢
Function02 Answers for No.10683

Ansl > black

blue

green

yellow

red

gray

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=17000+ 60 x]

2=[y=130x]
~ .]:[y:3080x+28000]} ~ 3 . o
'2:[y=i+6600 ’ Am‘[ 2 = 58800 , Ans6=| 4=[Profit:990] | Ans7=[.2=[64]]

25 5=[243]

|.6=[y=17000 - 70 x]
DG RE-Te ICHEN IV R D 9.0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=5x+170]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKXXXKXXKXKKXMS /2-6400402-00023XX
Function02 Answers for No.11104

Ansl > yellow

green

gray

red

blue

black

ON the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=18000+30x] |
d=[y=3x+150]

o 2=[y=180x]
2_[ _L+9000}, Ansjz[,l_[y—ZZBZ(;SCOB%OOO]}, Ans6=| . 4=[Loss:1500] |, Ans7=[.2=[70]]
2=|y="3 2= 5=[120]
|6 =[y=18000- 150 x]]
X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKKKKXKXKXKKXKXKK KKK KKK KKK KKK KKK

Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A ET O N0 1 )22 5706
Function02 Answers for No.11312

Ansl > red

green

gray

blue

yellow

black

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+40x] |

2=[y=180x]
.1:[y=750x+15000]}
7 = = = N = =
.2=[y= x+8100}, AnsS5 [ 520050 , Ans6 4=[Loss:720] |, Ans7=[.2=[81]]

100 S=[158]
|6 =[y=22000— 140 x]]
DG R=Te ICHE NIV Y S I 9.0:9.:0.9.9:9:0.9:9.0.9:0.:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.9.0:0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0:4

A=[y=6x+180]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ LY ML Y A oL A EL 0 0 10 )2259:0 ¢
Function02 Answers for No.11450

Ansl > green

yellow

black

red

blue

gray

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+30x] |

- 2=[y=170x]
x : Ans5:[1_[y_1470x+21000]}, Ans6=| .4=[Profit: 1220] |, Ans7=[.2=[83]]
2=]y="—1+10200 2=37170
25 5=[165]
|.6=[y=23000— 140 x].
DG RETe [CHE NN D 9:0:9.:9.9.9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=Tx+140]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FLX Y A oL A ZEL 0 N0 10 )24 59 04
Function02 Answers for No.12149

Ansl > gray

red

green

yellow

black

blue

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+60x] |

2=[y=170x]
I =[y=1440 x + 24000]}
7 = = = N = =
'2:[y=—x+7000}’ Ans2 [ 2239840 . Ans6=| .4=[Profit: 1010] | Ans7=[.2=[51]]

100 S5=[182]
L.6=[y=20000—110x].
DG R=-Te ICHE NIV D 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.:0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=6x+140]
Ans4 =
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Function02 Answers for No.12181

Ansl > black

gray

green

blue

yellow

red

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=21000+ 60 x]]
A=[y=6x+170]

2=[y=120x]
1=[y=1960x + 28000]}

_x = = = . = =

'2:{y= +6700 || A [ 2=39760 , Ans6=| .4=[Profit: 300] | Ans7=[.2=[78]]

20 5=[350]
|.6=[y=21000- 60 x]]
DG R=Te ICHE NI W B D 9.:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.0.9.0.0:9:0.0.9.0.0.0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

Ans4 =
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Function02 Answers for No.12234

Ansl > gray

blue

green

red

black

yellow

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+30x] |

- 2=[y=130x]

2_{ _Tx +8700}’ Ans5=[1_[y—ZIE%‘;(;;CZJ(r)BOOO]l Ans6 = 4=[Loss : 500] , Ans7=1[.2=[55]]
.6 = [y =20000 - 100 x]]
X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKKKKXKXKXKXKXKXKXKXKXKXK KKK KKK KKK K KKK

A=[y=4x+190]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK XXX KKK KKK KKK XXX KKK KKK KEXXXKXXKXKXKXMS /2-6400402-00029XX
Function02 Answers for No.12288

Ansl > green

red

gray

black

yellow

blue

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=17000 + 40 x]

2=[y=130x]
.1:[y=2900x+29000]}
7 = = = ° = =
'2:[y=—x+7700}’ Ans [ 2= 46400 , Ans6=|  4=[Loss:890] | Ans7=[.2=[51]]

100 S5=[189]
|.6=[y=17000 - 90 x1]
X [Page = 0029] XXXXXXXXXXXXXXXXKXKXXXXXXXKXXKXKXKXXKKXKXKXKXKXKKXKXKXKK KX KKXKKK KK KXKXK KKK EXKXKK KKK KKK KKK KKK KKK KKK K KK KKK K KKK KXKKKK KKK

A=[y=4x+130]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FLX Y A oL A 2R 0 0 10 JC 1 0):0.¢
Function02 Answers for No.12311

Ansl > gray

green

yellow

blue

black

red

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=17000+ 60 x]

2=[y=150x]
.]:[y:1680x+21000]}
X = = = N = =
'2:{y=—+8100 , Ans) [ 2=31080 , Ans6=|  .4=[Loss:890] | Ans7=[.2=[48]]

20 5=[189]
|.6=[y=17000 - 90 x1]
DG R=-Te (CHENNVIVCI N IND 9:9:9:9.9:9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0.0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=4x+150]
Ansd =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y LT YA oL A EI N0 [ JC 1 D 06
Function02 Answers for No.12318

Ansl > red

green

blue

black

yellow

gray

NOT on the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+50x] |

v — 2=[y=160x]

, Ans5=['1_[y_1350x+27000]}, Ans6=|  4=[Loss:940] |, Ans7=[.2=[50]]
2= 40500 5o 1155]

L.6=[y=17000- 110 x].
DG R=Te (CHE NIV H N IND 9:0:9:9.9.9:9:0.9:9.0.9:0:0.9:0:0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.9:0:0.0:0.0.0.9:0.0.0.4

JI=[y=3x+180]

= 3x
Ansd .2={y=_+9700
50




D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FLX Y A oL A ET 0 0 10 JC 12570 ¢
Function02 Answers for No.12322

Ansl > red

yellow

gray

black

green

blue

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+30x] |
d=[y=6x+140]

o 2=[y=180x]
sd .1—[y—1520x+19000]}’ st

7x Ans5=[ _| 4=[Profit: 1650] |, Ans7=[.2=[57]]
2= y=—47500 | 2=31160 ’

{y 100 } 5=[140]
| 6=[y=21000— 150 x].
DG RETe ICHE NIV A D 9.0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.9.0:0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.0:0.0.0.4




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FEX YA oL A EI N0 [0 JC 1C) 0.6
Function02 Answers for No.12335

Ansl > green

yellow

red

black

gray

blue

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=20000+40x] |

o 2=[y=140x]
2_[ _L+9100}, Ans5=['1_[y_21_623%;6318000]}, Ans6 = A4=[Loss :800] |, Ans7=[.2=[63]]
2= y=", 2= 5=[200]

|6 = [y =20000— 100 x]]
X [Page = 0033] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKKKKXKXKXKXKKXKKK KKK KKK KKK KK KKK

A=[y=6x+150]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FLX Y A oL A ET O N0 10 JC /5706
Function02 Answers for No.12340

Ansl > black

gray

green

yellow

red

blue

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+30x] |

2=[y=130x]
1 =[y=1960x + 28000]}
7 = = = N = =
'2:{y=—x+9400}’ Ans3 [ 2= 49560 , Ans6 A4=[Loss : 400] |, Ans7=[.2=[49]]

100 S5=[170]
L.6=[y= 17000 — 100 x]
DG RETe ICHENVIVCY S IND 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=6x+190]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A EL 0 0 [0 JC 15904
Function02 Answers for No.12342

Ansl > yellow

gray

green

red

black

blue

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+50x] |

2=[y=150x]
.]=[yz750x+15000]}
7x = = = N = =
‘2:{y=—+101oo > Ans3 [ 2=23250 , Ans6 4=[Profit: 500] |, Ans7=[.2=[65]]

100 5=[230]

L.6=[y=23000- 100 x].
DG RETe [CHE NIV D 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.9.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.9.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4

A=[y=Tx+140]
Ansd =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX KKK XXX KKXXKXKXKXMS /2-6400402-00036XX
Function02 Answers for No.645201

Ansl > red

black

yellow

gray

blue

green

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=18000+30x]]

2=[y=120x]
.1:[y=1800x+20000]}

7x = = = N = =

'2:[3’=_+6700}’ e [ 2=30800 » Ans6=| 4=[Loss - 1350] |, Ans7=[.2=[62]]

100 5=[200]

|.6=[y=18000 - 90 x]
X [Page = 0036] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK XK KXKXKK KK EXKXKK KKK KKK KKK KKK KKK KKK K KK KKKK KKK KXKKKK KKK

A=[y=5x+150]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXKXXXXXXKXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XKXXKXKXKXMS /2-6400402-00037XX
Function02 Answers for No.645202

Ansl > black

red

blue

yellow

gray

green

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=22000+70x]]

2=[y=150x]
.1:[y:2860x+26000]}
X = = = N = =
‘2:{y=—+7ooo , Ans) [ 2= 48880 , Ans6=|  .4=[Loss:360] | Ans7=[.2=[73]]

20 5=[275]

|.6=[y=22000 - 80 x].
DG R=Te (CHE NIV N R IND 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=3x+160]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXKXXXXXXKXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKXXKKXXKXKXXMS /2-6400402-00038XX
Function02 Answers for No.645203

Ansl > blue

green

yellow

gray

black

red

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+30x] |

J=[y=3x+170] 2=[y=150x]
Ansd = 3x , Ans5=['1_[y_2520x+28000]}, Ans6=| .4=[Loss: 16001 | Ans7=[.2=[57]]
2=|y=""1+9300 2=43120
50 5=[184]

|.6=[y=22000— 120 x]_
DG RETe (CHE NIV N IND 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0:0:0.:0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0.0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK KKK KKK KKXXXKXXKXKXKXMS /2-6400402-00039XX
Function02 Answers for No.645204

Ansl > green

blue

gray

red

black

yellow

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=18000+70x] |

o 2=[y=170x]
x , Ans5=['1_[y_1740x+29000]}, Ans6=| .4=[Profit: 1300] |, Ans7=[.2=[511]
2=|y="—+7100 2 =39440

20 5=[180]
|.6=[y=18000— 100 x]
DG R=Te (CHE NIV ICN D 9:0:9.:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0.:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4

A=[y=3x+160]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK XXX KKK KKK KKK KKK KKK KKK KKK KKK XXX XKXXKXKXKXMS /2-6400402-00040XX
Function02 Answers for No.645205

Ansl > green

yellow

red

gray

black

blue

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=18000+ 60 x]]

2=[y=140x]
.1:[y=1890x+21000]}

7x = = = ° = =

'2:[y=_+6800} Ans [ 2=41790 > Ans6 4=[Loss : 800] |, Ans7=[.2=[64]]

100 5=[225]

|.6=[y=18000 — 80 x]
DG R=Te (CHE NIV VN IND 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0.0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.4

A=[y=4x+180]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y ML YA oL A LRI N [ X N D 06
Function02 Answers for No.645206

Ansl > gray

red

green

black

yellow

blue

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=17000+ 70 x]]

2=[y=130x]
~ .]=[y:2610x+29000]} ~ - . o
'2:[y=i+6ooo : Am_[ 2=47270 , Ans6=| .4=[Loss:560] | Ans7=[.2=[56]]

20 5 =[284]
L.6=[y=17000 - 60 x]]
X [Page = 0041] XXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXX XXX XXX XKLXX KKK KKK KKK XKL XKL XKL XKL KKK KKK KKK KKK KX XKL XKL XKL KKK KKK XKKXKK

A=[y=5x+190]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX Y A oL A LET O N0 [0 1525706
Function02 Answers for No.645207

Ansl > blue

green

black

yellow

gray

red

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=17000+ 70 x]

d=[y=3x+180] 2=[y=160x]
Ansd = 3x , Ans5=['1_[y_1260x+14000]}, Ans6=| .4=[Profit: 910] | Ans7=[.2=[42]]
2=|y=""18800 2= 25340
100 S =[189]

|.6=[y=17000 - 90 x]
DG RE-Te ICHE N VIY/VR D 9:0:9:0.9.9:0:0.9:9.0.9:0.:0.9.0.0.0:0:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.0.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4



D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX Y A oL A ET O N [ 1/3C) 0’4
Function02 Answers for No.645208

Ansl > gray

red

yellow

green

black

blue

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=22000+ 60 x]]

d=[y=6x+130] 2=[y=120x]
.]z[y:1150x+23000]}
Ans4 .22[)/: x+8200}, Ans5 [ 539200 , Ans6 4 =[Profit: 140] |, Ans7=[.2=[62]]

50 5=[367]

|.6=[y=22000 - 60 x].
DG R=-Te [CHE VIS D 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9:0.0.0:0:0.0.9:0.0:0:0.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9:0.0.0.0:0.0.04




D ERVERHNCIVISENED 0.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX Y A oL A LET O N I XX 5706
Function02 Answers for No.645209

Ansl > black

green

red

yellow

gray

blue

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+ 40 x] |
A=[y=Tx+140] 2=[y=150x]
Ansd = : Ans5=[1_[y_2640x+24000]}, Ans6=|  4=[Profit: 2701 | Ans7=[.2=[85]]
2= 47760
5=[155]
|.6=[y=17000— 110 x]
DG R=-Te ICHE NIV Y/ I 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.04

X
.2:{y:E+ 10500




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK KKXXKXKXXKXKXKXMS /2-6400402-00045XX
Function02 Answers for No.645210

Ansl > blue

green

red

black

yellow

gray

ON the line

NOT on the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+70x] |

o 2=[y=170x]

x , Ans5=['1_[y_1800x+18000]}, Ans6=| .4=[Profit: 5001 |, Ans7=[.2=[86]]
2=|y="—1+7000 .2 =36000

25 5=[170]
|.6=[y=17000 - 100 x]
DRI ICHE NN VIIY/SH D 9:0:9.:0.9:9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.9.0.0:0.0.0:0.0.0.0:0.0.0.4

A=[y=5x+160]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK XXX KKK KKK KKK XXX XKXXKXKXKXMS /2-6400402-00046XX
Function02 Answers for No.645211

Ansl > red

gray

yellow

green

black

blue

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+30x] |
d=[y=5x+190]

2=[y=150x]
.1:[y=2900x+29000]}
7x = = = N = =
2= y=—+10300}’ Ans3 [ 2249300 , Ans6=| . 4=[Profit:240] | Ans7=[.2=[61]]

100 S5=[175]
L6 =[y=21000— 120 x]]
X [Page = 0046] XXXXXXXXXXXXXXXXKKXXXKXXXXXXXKXKXXXKXKXKXKKKKXKXKXKK KX KKXKKK KK KXKXKK KK EKXKK KKK KKK KKK KXKK KKK KKK K KK KKKK KKK KXKKKK KKK

Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX Y A oL A LRI O N [ X 2D 06
Function02 Answers for No.645212

Ansl > yellow

blue

red

green

gray

black

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=18000+70x]]

o 2=[y=120x]
2_{ X 9500 |P Ans5=[1_[y_ZIEZZ;OBISOOO]}, Ans6=| .4 =[Profit: 600] | Ans7=[.2=[74]]
2=|y=" 2= 5=1360]

|.6=[y=18000— 50 x]]
X [Page = 0047] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKKKKKKXKXKXKXKKKXK KKK KK KKK KKK KKK

A=[y=4x+130]
Ansd =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK XXX KKK KKXXKKXXKXKXKXMS /2-6400402-00048XX
Function02 Answers for No.645213

Ansl > gray

yellow

red

black

green

blue

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=22000+50x] |
d=[y=6x+190]
Ansd = =| . 4=[Profit: 1920] |, Ans7=[.2=[62]]
2=
36920 5= [170]
.6 =[y=22000— 130 x]]
DG R=-Te ICHE NNV N IND 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:0.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9:0:9.0.0.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.0:0.0.0.4

- 2=[y=180x]
}’ Ans5:[1—[y—156Ox+26000]}’ st

X
.2:[y=%+ 10300




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ LY FEX Y A oL N ET O N0 [ 1/ 4°) 0 ¢
Function02 Answers for No.645214

Ansl > black

red

green

blue

yellow

gray

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=19000+40x] |
o 2=[y=140x]
, Ans5:['1_[y_1440x+24000]}, Ans6=|  4=[Profit:300] |, Ans7=[.2=[49]]
2= 38400 5 oo,

|.6=[y=19000 - 100 x]_
DG R=-Te [CHE VIR D 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:0.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.9:0.0.0.9:0.0.0.4

J=[y=3x+190]

= 3x
Ansd .2:[y:—+9800
50




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXKXXXKXXXKXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK XXX KKK KKK KKK KKXXKKXXKXKXKXMS /2-6400402-00050XX
Function02 Answers for No.645215

Ansl > blue

gray

green

black

yellow

red

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=20000+70x]]

d=[y=5x+190] 2=[y=140x]
Ansd = 3 , Ans5=[1—[y —1400"“4000]}, Ans6=| 4=[Profit: 720] | Ans7=[2=[67]]
2=y=——+7500 .2=21000
50 5=1286]

|.6=[y=20000— 70 x].
DG R=Te ICHENNVIVST N IND:9:0:9:9.9:9:9:0.9:9.0.9:9:0.9.0.9.0.:9:0.0.9:0.9.0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.9.0.0.0.0:0.0.0.4



D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX YA oL A LRI N [ S} D 06
Function02 Answers for No.645216

Ansl > yellow

black

red

green

gray

blue

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+30x] |

2=[y=130x]
.]=[yz910x+13000]}
7 = = = N = =
'2:{y=—x+101oo , Ans3 [ 2=17550 , Ans6=| . 4=[Profit: 1100] |, Ans7=[.2=[84]]

100 5=[200]
L6 =[y=20000— 100 x]
DG RE-Te [CHE NIV D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4

A=[y=Tx+160]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK KKXXXKXXKXKXKXMS /2-6400402-00052XX
Function02 Answers for No.645217

Ansl > blue

green

yellow

gray

red

black

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+60x] |

2=[y=160x]
.]z[y:1140x+19000]}
7 = = = N = =
'2:{y=—x +6800}’ Ans3 [ .2=28120 , Ans6 4 =[Loss : 1500] |, Ans7=[.2=[42]]

100 5=[230]

L.6=[y=23000- 100 x].
DG R=Te ICHE ISV A D 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9:0.0.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=Tx+190]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XKXXKXKXKXMS /2-6400402-00053XX
Function02 Answers for No.645218

Ansl > red

gray

green

yellow

black

blue

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=23000+30x]]

2=[y=120x]
.Iz[y:1980x+18000]}

7x = = = N = =

'2:[3’=_+6100}’ A [ 2=27900 , Ans6=| .4=[Loss:1220] | Ans7=[.2=[49]]

100 5=[256]
|6 =[y=23000-90x]]
DG R=Te [CHE NIV H D 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0:9.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.9:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.9.0.0.0.0:0.0.0.4

A=[y=5x+150]
Ans4 =




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX XKXXKXKXKXMS /2-6400402-00054XX
Function02 Answers for No.645219

Ansl > red

gray

green

blue

black

yellow

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+40x] |

2=[y=140x]
.]:[y:1260x+18000]}
'2:{y= x+6500}’ Ans2 [ 2226820 . Ans6=| .4=[Profit: 1500] | Ans7=[.2=[50]]

100 5=[200]

L.6=[y=20000— 100 x].
DG R=-Te ICHENNVIISY S NP 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.9.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.9.0.0:0.0.0.0.0.0.9:0.0.0:4

A=[y=6x+130]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y ML Y A oL A EL 0 0 [0 }5759: 0.4
Function02 Answers for No.645220

Ansl > blue

yellow

red

gray

black

green

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

| 1 =[y=17000+30x] |

2=[y=160x]
.1:[y=1050x+15000]}

X = = = N = =
'2:[3’=_+6900}’ Ans? [ 2225500 . Ans6=|  4=[Loss: 100] | Ans7=[.2=[82]]
25 S5=[131]
L.6=[y=17000 - 130 x]]
DG RETe ICHE NIV D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0:9:0.9:0:0.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.9:0.0.0.4

A=[y=Tx+130]
Ans4 =
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Function02 Answers for No.645221

Ansl > green

gray

blue

yellow

red

black

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=20000+ 60 x]]

2=[y=140x]
.]z[y:2500x+25000]}

X = = = ° = =

'2:[y=—+6100 > Ans3 [ 2=37500 , Ans6 4 =[Profit : 960] |, Ans7=[.2=[40]]

25 5=[250]

|.6=[y=20000— 80 x].
X [Page = 0056] XXXXXXXXXXXXXXXXKXKXXXKXKXKXKXXXKXKXXKKXKXKXKXKKKKXKXKXKK KX KKXKKK XK KXKXKK KK EKXKK KKK KKK KKK KKK KKK KKK K KK KKKK KKK KXKKKK KKK

A=[y=6x+130]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX YA oL A LRI N [ ) D 04
Function02 Answers for No.645222

Ansl > yellow

red

blue

gray

green

black

ON the line

NOT on the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=20000 + 40 x]

o 2=[y=120x]

} , Ans5 =['1 =b _21_171(;;653 13000]}, Ans6=| .4 =[Profit: 8801 | Ans7=[.2=[51]]
o 5=[250]

|.6=[y=20000 — 80 x]
DG R=Te [CHE NIV WA D 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.9:0.0.0.4

I =[y=4x+140]

= 3x
Ansd .2={y=_+ 10200
50
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Function02 Answers for No.645223

Ansl > red

green

blue

black

gray

yellow

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+ 40 x] |

A=[y=Tx+170] 2=[y=150x]
A=[y=1350x+ 27000]}
Ans4 ‘2:{)}: X +8300}’ Ans5 [ 22139150 , Ans6 A4 =[Profit: 1150] |, Ans7=[.2=[42]]

100 S=[155]
L.6=[y=17000— 110 x]
DG RETe ICHE NIV N IND 9:0:9.:0.9:9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.0:0.0.0.4
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(.1 =[y=22000+ 70 x]

2=[y=160x]
.1:[y=1150x+23000]}
7 = = = N = =
.22[)/: x+6500}, Ans5 [ 35650 , Ans6 4 =[Profit: 2301 |, Ans7=[.2=[70]]

100 5=[245]
|6 =[y=22000-90x]]
DG RETe [CHENIIISICN D 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.0:0.0.0.9:0.0.0.4

A=[y=Tx+190]
Ans4 =
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[ 1=[y=23000+30x] |

A=[y=5x+180] 2=[y=170x]
1 =[y=1000x + 20000]}
Ans4 .2:@: x+9500}, AnsS [ 31000 . Ansé 4 =[Profit:2200] |, Ans7=[.2=[82]]

100 S5=[165]
L6 =[y=23000— 140 x]
DG R=-Te [CHE NIV N IND:9:0:9:0.9:9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.9:9.0.0:0:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.0:0.0.0.9:0.0.0.4
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[ 1=[y=22000+70x] |

d=[y=6x+180] 2=[y=180x]
.]:[y:1980x+18000]}
Ans4 ‘2:[y: x+7400}, Ans5 [ 27900 , Ans6 4=[Loss:880] | Ans7=[.2=[47]]

100 5=[200]
L.6=[y=22000-110x]]
DG RETe [CHE NI D 9:0:9:0.9:9:0:0.9:9.0.9:0:0.9.0:0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.0.0.0:0:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0.0:0.0.9.0.0.9:0:0.0:0.0.0.9:0.0.0.4
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[ 1=[y=19000+50x] |

v — 2=[y=170x]

, Ans5=['1_[y_1120x+14000]}, Ans6=| .4=[Loss:1600] | Ans7=[.2=[56]]
2= 19600 5o 1159]

|.6=[y=19000 — 120 x]_
DG R=-Te ICHE NIV NVAIND 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.9:0.0.0.0:0.0.0.4

d=[y=6x+150]

= 3x
Ansd .2:[y:—+6400
50
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[.1=[y=23000+50x]]

2=[y=130x]
~ .]=[y:1890x+27000]} ~ 3 . o
'2:{y=i+8200 ’ Am‘[ 2 =38340 , Ans6=| 4=[Profit:440] | Ans7=[.2=[67]]

25 5=1288]

|.6=[y=23000 - 80 x]
DG R=Te [CHE NIV D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.9.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.4

A=[y=4x+180]
Ansd =
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[ 1=[y=22000+70x] |
A=[y=Tx+180]

o 2=[y=180x]
s — .]—[y—900x+15000]}’ st

7x : Ans5=[ =| 4=[Profit: 16501 |, Ans7=[.2=[85]]
.2—{y——100 + 10400 .2=24000 5 = [200]

|.6=[y=22000-110x].
DG R=-Te ICHE NIV NY S I 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0.0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4
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[ 1=[y=18000+70x] |

d=[y=3x+190] 2=[y=170x]
Ansd = 3x : Ans5=['1_[y_2420x+22000]}, Ans6=|  4=[Loss:100] | Ans7=[.2=[53]]
2= y=""49100 234100
50 5=[180]

|.6=[y=18000 - 100 x].
DG RETe [CHE N VIVNCN D 9:0:9:0.9:9:0:0.9:9.0.9:0:0.9:0:0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4
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